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1. Do not open the booklet until you are told to do so.

2. Read carefully the instructions given at the beginn1ng
of each part of the booklet.

3. Do not waste time. If the question is too difficult for you,
go on to the next question.

4. Check your answers thoroughly and make sure you
attempt every question.

5. In this booklet, you should have the following:
a. Page 1 to Page 13
b. Questions 1 to 18
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(a) spider-. C
(b) Plant-. A

(c) Container Y
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(d) Mould needs water to continue growing. So, it grows in damp
places.

( a) The amount of water left in set-up A was 125 ml which is lesser than
set-up B on day 5.

(b) She can conclude that plants which have more roots can absorb

more water.
(c) Tick "Location to pace set-up A and B"

Tick "Type of plant used"

(a) False

True

True

False

(b) Group A: Digestion takes place

Group B : Digestion does not take place

Circulatory System 

blood vessels 

heart 

Respiratory System 

windpipe 

lungs 
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023) (a) (i) Bag B as it it not strong to carry the heavy boots.

(ii) Both Bag A and C are strong and flexible

(b) (i) Material W

(ii) Material Was it absorbs the most water and the purpose of the

towel is to absorb water on your body.

024) (a) B, D, A, C

(b) Steel paper clips

025) (a) Magnet C has the most magnetic strength

(b) No, copper pins are not magnetic material and they did not get

attracted.

(c) The length of the string can be changed by adding more strings so

that Magnet A will be nearer to the paper clips.

026) (a) As the number of paper clips increases, the magnetic strength of the

magnet increases.

(b) Add the number of coils of wire around or increase the thickness of

the iron bar

(c) Both iron bars will lose its magnetism
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